2600 150

63 2474 63
Tt&E i 25—y R
3o TS RIR /BT

£ = o
g
80 k& 80 21
143 143
e 25—
2
2314 S BIRY
50 2214 50
()
Lo
S5 < 3
g (] : ?
N $25.07)L5/8( 7 S
SR S=1/30
(113.9)
110
98
ZHY—2RwH R 85 BYEVITER
(Bl& T =) \
- 1500 _ mies | [ /TE
) ] — / @O TN
= -m ] =~ 174 [~ [e's]
T8 Q&L M | §
2H Y=y é
- 21 )
FHEE  S=1/5
150 °
HWROABRRUVTYA VIBHEED=-HFELCEET 581D Y FT,
e <k N smn | VI
S (BERE) | 774 RTA F, 74 FE—X RN RASE AyEUSER
HE - 7)LS BRIFHEAH A6063S-T5 : e
X & FITA b5 T B (L)L) \— ) AETE (XY U—2iRy I R
5 2 9. 3kg O—41)—X by T, AE— KOy bO—S5—H8IEER G

RE p 1730 15 |8 1004 vF 2Ty 5% E2 5 J— (FiR 16:974-T0)

L4
%IC et ITA A 2 — |BE mm e Ver.5.0 |**F km—HD100 [*




